Efficiency vs Dxy(PV)
1.2

iy

o
)

efficiency vs dxy(PV)

o
o

o
»

275-20-15-10 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— DQM_V0001_R000000001__Global__mkFit100__RECO
[Efficienc]| —— DQM_v0001_R000000001_ Global__mKkFit100tobtec_ RECO

g I
= Do
o [
2 o
S Do
2 0.8 Beneeeees
@ . . .
£ N
@ g4 FRITE SRR A

0.4 1 4
2 FRvs) : { ||| il H g
R

1R \hu Gl
0983=0.8-0.6- 2 0.4 0.6

TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

< [ .
o L N
§ f :
Y I=----- I-----------. --------------- -
> F .
> :
Q F .
T S T S
2 [ .
= r N
15} o .

(Y SR U SRR L
04:— ............ [ —— J: ............ [
0.2f--e e B Feeens

[ i i ¢ i i
o+ X
5
@

h-e-- e PEEEEEREEE | | S T .-
°¥p 20 10 0 10 20 30

TP dz(PV) (cm)

-1 -0.5



	Contents
	Page 1


